Converting Between L, kL, ML, and GL (A)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 g s § gt ig E 3 2
& g T 2 S: 15 8 E E g
: : ———t—t—t— : : > X
G M k h da 'd ¢ m M n
9 8 7 6 5 4 3 2 1:051-2 3 4 5 -6 -7 -8 -9

. Convert 0.00000013 GL to L

Convert 910 000 000 kL to GL

Convert 793.8 ML to kL

Convert 420000 L to ML

Convert 0.000397 ML to L

Convert 0.0995 ML to kL

. Convert 868 900 000 000 L to GL

Convert 357400 ML to GL

Convert 0.9167kL to L

Convert 4300 L to kL
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Converting Between L, kL., ML, and GL (A) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 ¢ 2§35 i3 %% =
B E T 2 5 135 8 E E &
— < : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0,-1 2 -3 4 -5 -6 -7 -8 -9

1. Convert 0.00000013 GL to L
0.00000013GL X10X10Xx10Xx10Xx10Xx10Xx10x10x 10 =130L
2. Convert 910000 000 kL to GL
910000000kL +10+-10+10+10+10+10 =910GL
3. Convert 793.8 ML to kL
793.8 ML X 10 X 10 X 10 = 793 800 kLL
4. Convert 420000 L to ML
420000L+-10+-10+10+-10+10+10 =0.42ML
5. Convert 0.000397 ML to L
0.000397ML X 10X 10X 10X 10X 10X 10 = 397 L
6. Convert 0.0995 ML to kL
0.0995 ML x 10 X 10 X 10 = 99.5kL
7. Convert 868 900 000 000 L to GL
868900000000L+-10+-10+-10+-10+10+10+10=+10+10 = 868.9 GL
8. Convert 357400 ML to GL
357400 ML =-10+10+10 = 3574 GL
9. Convert 0.9167 kL to L
0.9167KkL x 10 X 10 X 10 = 916.7 L
10. Convert 4300 L to kL
4300L -10+10+10 =4.3kL

Math-Drills.com




Converting Between L, kL., ML, and GL (B)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
< o 1 1 — — e
5 & o 5 8: i3 E E S z
B S Z =2 =i +o 8 E S S
: : ——————— : : > X
G M k h da 'd ¢ m [ n
9 8 7 6 5 4 3 2 1:0,-1 2 3 4 5 6 -7 -8 9
. Convert 19100 ML to GL

Convert 0.316 ML to kL

Convert 84 600 000 kL to ML

Convert 4459 000000 L to ML

Convert 0.00000002187 GL to L

Convert 0.27kL to L

. Convert 0.00000068 GL to kL,

Convert 34 810000 000 000 L to GL

Convert 24 640 000 000 L to ML

Convert 0.611 kL to L
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Converting Between L, kL., ML, and GL (B) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 2 e g8 8 13 2 2 S z
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1 E 0.-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 19100 ML to GL

19100ML =-10+10+10=19.1GL

Convert 0.316 ML to kL

0.316 ML X 10 X 10 X 10 = 316 kL

Convert 84 600 000 kL. to ML

84 600 000kL - 10 - 10 = 10 = 84 600 ML

Convert 4459 000 000 L to ML
4459000000L+-10+-10=10+10+10+ 10 = 4459 ML

Convert 0.00000002187 GL to L

0.00000002187GL X 10X 10X 10X 10X 10X 10X 10X 10x 10 = 21.87L
Convert 0.27kL to L

0.27kL x10x 10X 10 =270L

Convert 0.00000068 GL to kL

0.00000068 GL X 10 X 10 X 10 X 10 X 10 X 10 = 0.68 kL.

Convert 34 810000 000000 L to GL

34810000000000L +-10+10+-10+-10+10+10+10+10+10 = 34810GL
Convert 24 640 000 000 L to ML

24640000000L +-10+10=10+10+10+10 = 24640 ML

Convert 0.611 kL to L

0.611kL x10Xx10X%x 10 =611L
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Converting Between L, kL, ML, and GL (C)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
5 % e § gt ig E 2 :
) g T 2 S: 15 8 E g g
: : ———t—t—t— : : > X
G M k h da 'd ¢ m M n
987654321:051-2345—6789

. Convert 10 540 000 000 kL to GL

Convert 8.559 ML to kL.

Convert 60.6 ML to kL

Convert 99000 L to kL

Convert 0.0000068 GL to L

Convert 0.1371 ML to L

Convert 702 300 000 ML to GL

Convert 0.0000433 GL to L

Convert 2 590000 L to kL

Convert 29 000 000 L to ML
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Converting Between L, kL, ML, and GL (C) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 ¢ 2§35 i3 %% =
b E T & 39 135 8 E E z
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9

. Convert 10 540 000 000 kL to GL

10540000000kL ~-10+-10+-10+-10+10+10 = 10540GL
Convert 8.559 ML to kL

8.559 ML x 10 X 10 X 10 = 8559 kL.

Convert 60.6 ML to kL

60.6 ML X 10 X 10 X 10 = 60 600 kL

Convert 99 000 L to kL.

99000L +-10+10—+10 =99KkL

Convert 0.0000068 GL to L

0.0000068 GL X 10X 10X 10X 10X 10X 10X 10X 10 X 10 = 6800 L
Convert 0.1371 ML to L

0.1371ML X10x 10X 10x 10 x 10 x 10 =137100 L

Convert 702 300 000 ML to GL

702300000 ML =10 + 10+ 10 = 702 300 GL

Convert 0.0000433 GL to L

0.0000433GL X10Xx 10X 10X 10X 10X 10X 10X 10X 10 =43300L
Convert 2 590 000 L to kL

2590000L +-10+10+10 = 2590kL

Convert 29 000000 L to ML
29000000L+-10+10+10+-10=10+10 =29 ML
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Converting Between L, kL., ML, and GL (D)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
yoo o <)
5 & ° 3 §i ig E E g £
B g T & 9, 19 8 E g g
: : ——————— : : > X
G M k h da: :d ¢ m W n
9 8 7 6 5 4 3 2 110 -1 2 3 4 -5 -6 -7 -8 -9
. Convert 488 000 L to kL.
Convert 240000 L to kL

Convert 6179000000 L to ML

Convert 0.0081 ML to kL

Convert 0.00000000039 GL to L

Convert 0.000004338 GL to L

. Convert 0.000532 GL to kL.

Convert 7.93 GL to ML

Convert 8 203 000 kL to ML

Convert 92 000000 L to ML
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Converting Between L, kL, ML, and GL (D) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 b 2 5 81 i3 § = 3 £
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 488 000 L to kLL

488000L - 10 - 10 =10 = 488 kL

Convert 240 000 L to kL

240000L - 10 +10 =10 = 240kL

Convert 6179 000 000 L to ML
6179000000L+-10+-10+10+10+10=+10 =6179ML

Convert 0.0081 ML to kL

0.0081 ML x 10 x 10 X 10 = 8.1 kL

Convert 0.00000000039 GL to L

0.00000000039GL X10Xx10x10x10x10x10x10x10x10=0.39L
Convert 0.000004338 GL to L

0.000004338GL X10X 10X 10X 10X 10x10x10x10x 10 =4338L
Convert 0.000532 GL to kL.

0.000532GL X 10x 10x 10 x 10 X 10 X 10 = 532KkL

Convert 7.93 GL to ML

7.93GL X 10X%x 10 X% 10 = 7930 ML

Convert 8 203 000 kL to ML

8203 000kL + 10+ 10 + 10 = 8203 ML

Convert 92000000 L to ML
92000000L=10=10=10=-10=-10=-10=92ML
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Converting Between L, kL, ML, and GL (E)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
5 g s § gt ig E 3 2
) g T 2 S: 15 8 E E g
: : ———t—t—t— : : > X
G M k h da: id ¢ m u n
9 8 7 6 5 4 3 2 1:051-2 3 4 5 -6 -7 -8 -9

. Convert 752100000000 L to GL

Convert 7900 000 000 kL to GL

Convert 0.8721 ML to kL

Convert 0.00656 ML to L

Convert 489 000 L to kL

Convert 860000000 L to ML

. Convert 0.00000000094 GL to L

Convert 8.4 ML to kL.

Convert 680 L to kL.

Convert 0.0031 GL to ML
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Converting Between L, kL, ML, and GL (E) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 ¢ 2§35 i3 %% =
D g g 2 5 15 8 E g g
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:0:-1 2 3 4 -5 -6 -7 -8 -9

. Convert 752100000000 L to GL

752100000000L +-10+-10+-10+-10+10+10+10=+10+10 = 752.1GL
Convert 7900 000 000 kL to GL

7900000000kL -10+10+10+10+10 =10 = 7900 GL

Convert 0.8721 ML to kL

0.8721 ML x 10 X 10 X 10 = 872.1 kL

Convert 0.00656 ML to L

0.00656 ML X 10 X 10 X 10 X 10 X 10 X 10 = 6560 L

Convert 489 000 L to kL

489000L - 10+ 10+ 10 = 489kL

Convert 860 000 000 L to ML

860000000L +-10+10+10+10=+10+10 = 860 ML

Convert 0.00000000094 GL to L

0.00000000094 GL X 10X 10X 10X 10X 10X 10X 10x 10X 10 =0.94L
Convert 8.4 ML to kL

8.4ML X 10 X 10 X 10 = 8400 kL

Convert 680 L to kL.

680L - 10+10+10 = 0.68kL

Convert 0.0031 GL to ML

0.0031GL x10Xx10x 10 = 3.1 ML
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Converting Between L, kL, ML, and GL (F)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
< o ¥ @]
5 & s 3 81 ig B E 3 2
% £ T 281 18§ % z g
: : ———t—t—t— : : > X
G M k h da rd ¢ m M n
9 8 7 6 5 4 3 2 1:i0:i-1 2 -3 4 -5 6 -7 -8 -9
. Convert 7800 L to kL.
Convert 0.047 ML to kL.
Convert 43.9 GL to ML
Convert 0.000377 GL to kL

Convert 440 000 000000 L to GL

Convert 91 300 000000 L to ML

. Convert 8.586 kL to L

Convert 28 040 000 000 000 L to GL

Convert 200 300 000 kL to ML

Convert 0.5937 ML to L
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Converting Between L, kL, ML, and GL (F) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 b 2 5 81 i3 § = 3 £
"Bh S Z =2 =i +o 8 E £ =
: : : : — —t : : —p X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0.-1 2 3 4 -5 6 -7 -8 9
. Convert 7800 L to kL

7800L -10+10+10 = 7.8kL

Convert 0.047 ML to kL

0.047ML X 10 X 10 X 10 = 47 kL

Convert 43.9 GL to ML

439GL X 10X 10X 10 =43900 ML

Convert 0.000377 GL to kL.

0.000377GL X 10x 10 X 10 X 10 X 10 X 10 = 377 kL

Convert 440 000 000 000 L to GL

440000000000L +-10+10+10+10+-10+=10+10+10+10 = 440GL
Convert 91 300 000000 L to ML
91300000000L+-10+10=10+10+10+10 =91 300 ML

Convert 8.586 kL to L

8.586 kL X 10 X 10 X 10 = 8586 L

Convert 28 040 000 000 000 L to GL

28040000000000L +-10+10+10+10+10+=10+10+10+10 = 28040 GL
Convert 200 300 000 kL to ML

200300000kL =10 = 10 = 10 = 200 300 ML

Convert 0.5937 ML to L

0.5937ML X 10X 10X 10X 10 X 10 X 10 = 593700 L
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Converting Between L, kL, ML, and GL (G)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
5 % e § gt ig E 2 :
) g T 2 S: 15 8 E g g
: : ———t—t—t— : : > X
G M k h da 'd ¢ m M n
987654321:051-2345—6789

. Convert 0.887 ML to kL

Convert 0.0225ML to L

Convert 147 700 000000 L to GL

Convert 0.087 GL to ML

Convert 0.018kL to L

Convert 8 694 000 000 L to ML

Convert 22 200 000 000 kL to GL

Convert 90 630 kL to ML

Convert 2 820000 L to kL

Convert 0.0000049 GL to L

Math-Drills.com




Converting Between L, kL., ML, and GL (G) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 2 e g8 8 13 2 2 S z
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1 E 0.-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 0.887 ML to kL

0.887 ML x 10 X 10 X 10 = 887 kL

Convert 0.0225 ML to L

0.0225ML X 10 x 10 x 10 x 10X 10 x 10 = 22500 L

Convert 147 700 000 000 L to GL

147700000000L +-10+-10+-10+10+-10+-10+10+10+10 =147.7GL
Convert 0.087 GL to ML

0.087GL X 10X 10X 10 = 87 ML

Convert 0.018 KL to L

0.018kL x10x10x 10 =18L

Convert 8 694 000 000 L to ML

8694000000L +-10+-10+10+10=+ 10+ 10 = 8694 ML

Convert 22 200 000 000 kL to GL

22200000000kL =10 +10+10+10+ 10+ 10 = 22200 GL
Convert 90 630 kL to ML

90630kL =10+ 10+ 10 = 90.63 ML

Convert 2820000 L to kL

2820000L - 10+ 10+ 10 = 2820kL

Convert 0.0000049 GL to L

0.0000049 GL X 10X 10X 10X 10X 10X 10X 10X 10 X 10 = 4900 L.
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Converting Between L, kL, ML, and GL (H)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
5 g s § gt ig E 3 2
) g T 2 S: 15 8 E E g
: : ———t—t—t— : : > X
G M k h da: id ¢ m u n
9 8 7 6 5 4 3 2 1:051-2 3 4 5 -6 -7 -8 -9

. Convert 0.0000007968 GL to L

Convert 350 L to kL.

Convert 107 500 L to kL.

Convert 342 600 000 kL to GL

Convert 0.72 ML to kL

Convert 0.000002093 GL to L

. Convert 0.0002707 ML to L

Convert 90050 kL to ML

Convert 3900000 L to ML

Convert 0.00554 GL to ML
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Converting Between L, kL, ML, and GL (H) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 ¢ 2§35 i3 %% =
& E T 2 5 135 8 E E z
— < : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0,-1 2 -3 4 -5 -6 -7 -8 -9

1. Convert 0.0000007968 GL to L
0.0000007968 GL X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 796.8 L
2. Convert 350 L to kL.
350L +10+10+10 = 0.35kL
3. Convert 107 500 L to kL
107500L =10 - 10+ 10 = 107.5kL
4. Convert 342 600 000 kL to GL
342600000kL -10+10+10+10+ 10+ 10 = 342.6 GL
5. Convert 0.72 ML to kL
0.72ML X 10 X 10 X 10 = 720kL
6. Convert 0.000002093 GL to L
0.000002093GL X 10X 10X 10X 10X 10X 10X 10X 10X 10 = 2093 L
7. Convert 0.0002707 ML to L
0.0002707ML X 10X 10X 10X 10X 10 X 10 = 270.7L
8. Convert 90050 kL to ML
90050kL =10+ 10+ 10 = 90.05 ML
9. Convert 3900000 L to ML
3900000L+-10+-10+-10+10+10+10=3.9ML
10. Convert 0.00554 GL to ML
0.00554GL x 10X 10 X 10 = 5.54 ML
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Converting Between L, kL, ML, and GL (I)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
< o 1 1 — — e
5 & o 5 8: i3 E E S z
B S Z =2 =i +o 8 E S S
: : ——————— : : > X
G M k h da 'd ¢ m [ n
9 8 7 6 5 4 3 2 1:0,-1 2 3 4 5 6 -7 -8 9
. Convert 6 390000 ML to GL

Convert 8.3kL to L

Convert 202 600 000 000 kL to GL

Convert 16.4kL to L

Convert 0.0000000094 GL to L

Convert 0.00759 ML to L

Convert 52000 kL to ML

Convert 8 874 000 000 000 L to GL

Convert 75600000000 L to ML

Convert 0.45 ML to kL

Math-Drills.com




Converting Between L, kL, ML, and GL (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 2 e g8 8 13 2 2 S z
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 6 390000 ML to GL

6390000 ML - 10+ 10+ 10 = 6390GL

Convert 8.3kL to L

8.3kL x 10X 10X 10 = 8300 L

Convert 202 600 000 000 kL to GL

202600000000kL -+10+-10+10+10+ 10+ 10 = 202 600 GL
Convert 16.4kL to L

16.4KkL X 10X 10 X 10 = 16400 L

Convert 0.0000000094 GL to L

0.0000000094GL X 10X 10X 10X 10X 10X 10X 10x10x 10 =94L
Convert 0.00759 ML to L

0.00759 ML X 10X 10x 10X 10X 10X 10 = 7590 L

Convert 52 000 kL to ML

52000kL +-10+10+ 10 = 52 ML

Convert 8 874 000 000 000 L to GL
8874000000000L+-10+10+-10+-10+-10+10+10+10+10 = 8874 GL
Convert 75600 000 000 L to ML

75600000000L +-10+-10+10+10+10+10 = 75600 ML
Convert 0.45 ML to kL

0.45ML X 10 X 10 X 10 = 450 kL
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Converting Between L, kL, ML, and GL (J)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
< o ' —_ o
cvs &0 o © 8 g B E 5 z
& z T 2 &8 18§ E z 3
: : ——————— : : > X
G M k h da: i1d ¢ m 2 n
9876543215051-2345-6789
. Convert 0.015 ML to kL
Convert 110000 ML to GL
Convert 440 000 L to kL.
Convert 0.00073 ML to L
Convert 0.0000037 GL to L

Convert 889 000 000000 L to GL

. Convert 1930 kL to ML

Convert 0.00000732 GL to kL.

Convert 940000 L to ML

Convert 2.11 kL to L
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Converting Between L, kL., ML, and GL (J) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
8 g <! . o = 2 o
: : - : : —» X
G M k h da 'd ¢ m [ n
9 8 7 6 5 4 3 2 11011 -2 3 4 -5 6 -7 -8 -9
. Convert 0.015 ML to kL
0.015ML x 10X 10X 10 = 15kL
Convert 110000 ML to GL
110000ML =-10+10+10=110GL
Convert 440000 L to kL
440000L - 10 =10 + 10 = 440kL
Convert 0.00073 ML to L
0.00073ML Xx10x10x10x10x10x 10 =730L
Convert 0.0000037 GL to L

0.0000037GL X10Xx 10X 10X 10X 10X 10X 10X 10X 10 = 3700 L
Convert 889 000 000 000 L to GL
889000000000L+-10+-10+-10+10+10+10+10=+=10+10 = 889 GL
Convert 1930 kL to ML

1930kL - 10 +-10+ 10 = 1.93 ML

Convert 0.00000732 GL to kL

0.00000732GL X 10X 10 x 10 X 10 X 10 X 10 = 7.32KkL

Convert 940 000 L to ML
940000L+-10+10=10+10+10+10 = 0.94 ML

Convert 2.11 kL to L

2.11kL X 10x 10X 10 = 2110L
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